Practice Sheet: Balancing Redox Reactions

1. Indicate the oxidation number of the bold-/takicized element in the following compounds:
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2. Indicate the oxidation number of the italicized element in the following ions:
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3. Indicate the oxidation number of the italicized element in the following compounds:
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Balance the following equations that are in acidic solution:

1

O

H2Sgy + NOsgy 2> NOg + S

. MOy + C|'(uq) > C'a(g) + Mna’(m:!)

 Clg + Cre07%wg > Cr¥eq Clag

. HgSe *+ NOseg + Cleg > Hallieg + NOg + S
X FBZ+(aq) + Man‘(gq) = FES‘(EQ) + Mna‘{ﬁq)

. BiOyeg + MnPuy > MnOgg + Biwg

. WOz, “"SHZ'(m) + Clggy > W3Oy + SnCIf,z'(aq)

. NiOzsy + Age Niz‘(uq) + Ag'tag

. Fea'(aq) + He5q 2> Faa(aq} + S

10, PbOz(s) + Mnai(m} > Pbb(nq) + MHO{(QQ)

11 TeOs' g + Tigg =2 TC2+(nq) + Ti3’(.,q}

12, 103(ﬂq) + Iﬂ(nq) - Ig(s)

13.CHagy + MnOsey > MnTug + €Oz

Balance the following equations that are in basic solution:

[y

. C[‘3+(nq) + M?‘IOE(S) - an’guq) + CI"Oqaw(nq)

. Bi(OH)zsy + Snoaz-(uq} = Bigy + 5!’1032""{%)
MnOs ey > MnOsey + MnOgy

Mﬂz’(uq) + Bragm > MnOyy + Brigg

. Cl"a’(aq) + HzOg(aq) -> Cr'Of‘(,,q)

CAgusy + HPOY ey D Agayy *+ POsT g

NOz'ug + MnOseg 2> NOigg MnOzy




